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Numeric Results
C.C N S
Confidence Sample Standard
Precision Coefficient Size Deviation
9980 085000 582 190,000
Unknown standard deviation. Population size = 1000

Report Definitions

Precision is the plus and minusvalue used to create the confidence interval
Confidence Coefficient is probability value associated with the confidence interval
Misthe size of the sample drawn from the population

The standard deviation ofthe population measures the variability in the population

Summary Statements
A sample size 0of 582 from a population of 1000 produces a 95% confidence interval equal to the
sample mean pls or minus 9.980 when the estimated standard deviation is 190,000
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Report Definitions
Poweristhe probabilty of rejecting a false null hypothesis. It should be close to one.
N isthe size ofthe samnple drawn fram the population. To conserve resources, t should be smal
Apha is the probability of rejecting a true null hypothesis. It should be small
Beta is the prababilty of accepting a false null hypathesis. It should be small
Mean is the value of the population mean under the null hypathesis. Itis arbitrary.
Mean1 is the value of the population mean under the alternative hypothesis. It is relative to Mean.
Sigma isthe standard deviation of the population. It measures the variabiity in the population
Effect Size, [Mean0-Mean [Sigra, is the relative magnitude of the effect under the alternative.
Summary Statements
Asample size of &7 from a population of 5000 achieves80% power fo detect a difference of -10
between the null hypothesis mean of 168.0 and the alternative hypothesis mean of 17 0 with an
estimated standard deviation of 3.0 and with a significance level (alpha) of 0.05000 using a
one-sided one-sample tHest =
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Pirwvir it tha probabilty of rejecting o G nul hypothess Powi thould be dose 1o one.
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